
『「読めない」を「読める」に変える 英文読解の入門教室』正誤表 
 

弊社刊『「読めない」を「読める」に変える 英文読解の入門教室』の記述につき誤りがございました。 

お詫びとともに，訂正させて頂きます。 

 

  誤 正 

P82 演習編 2. at the amusument park. at the amusement park. 

P84 2. their costumes ((in a car park) at the amusement park))). 

▶((孫たちがたまたま(遊園地の(駐車場で))キャラクターが衣装を脱いでいるのを見た時に) 

their costumes (in a car park (at the amusement park)))). 

▶((孫たちがたまたま((遊園地の)駐車場で)キャラクターが衣装を脱いでいるのを見た時に) 

P96 3. You must not forget the fact that strong sunlight is harmful. We must not forget the fact that strong sunlight is harmful. 

P99 5. He will read all the letters <that she sent       (to him)>. 

S     V          O     M 接  S’   V’           M’ 

彼は＜彼女が(彼に)送った＞ 全ての手紙 を読むだろう。 

He will read all the letters <that she sent       (to him)>. 

S     V          O     M 関代  S’   V’           M’ 

▶彼は＜彼女が(彼に)送った＞ 全ての手紙 を読むだろう。 

P123 会話説明文内 前を見ると a school という名詞があるから、and は a school と a place を並べているとわかるね。 前を見ると a school という名詞があるから、or は a school と a place を並べているとわかるね。 

P126 4. □ fill (～) out〔in〕(～) 熟語 ～に必要事項を記入する □ fill (～) out〔in〕(～) 熟語 ～を記入する 

P154 4.  sugar 

(to work (on   and        plantations). 

              pineapple 

 sugar 

(to work (on   and        plantations)). 

              pineapple 

P169 演習編 2. The wines which are on that list will be difficult to obtain in London. The wines that are on that list will be difficult to obtain in London. 

P219 3. (there) was a significant exchange 

 M    V         O 

(there) was a significant exchange 

 M    V         S 

P230 解説編 1. existing laws (on the use (of chemicals (in farming))) 

                              were made stronger, 

existing laws (on the use (of chemicals) (in farming)) 

                              were made stronger, 

P230 解説編 1. ある科学者たちは[(その本が理由で)、(((農業での)化学薬品の)使用についての)現存する法律は強められ、 ある科学者たちは[(その本が理由で)、((農業での))化学薬品の)使用についての)現存する法律は強められ、 

  


